,L'%*’i:O (1)
4 x+23~22=40 (1)

| 2%+ 3y = 13 (3)
Ekv. (4) 4er
K=yr2 (1)

\V\séi&vw/tﬁt (2) ezw (%) ger

5*2 +23~’Lz=10
'l(ﬂ*&\‘rgﬁ’:Vﬁ

{35-2=40 (2 %)

Sy« 12 =15 (3 )
Ekv. (?..*y 3¢(
2= 3y- 10 (2%

\Msa“&vuvtﬂl (5 ger
53»(2(33—10):43
11\11-2()=13

fy =33
y=3
lnsalinug ¢ (1% qer
2=733-10=-1

\V\Sb’ﬂ\u\aﬁ N oy=3 2=-11 (4-&\ qer

Xx=3+(-1) =12
x=17
Svar:14=3

Provig av x=2,\j=3,2=~1~‘

Eky (1)
NL=12-3-(-1)=0
WL =0 0!

Ekv (2):
NL=1+2-8-2(A) =40
WL =10 o

Eky (6)?
NL=2-2+%34=1%
HL=13 ok

A\\\'SC; ("I’L X= 2\ 5:* g‘z-:-/l

ew \bsung «ll ekyationssystemet!




